351 Ny
L 5? S i a Jnx -u:ﬂun Zﬁ* (Read He:m'”her RQ““W}
A |. LI =
t ) i . i 3R RENIGEI Read: "tc i N QVig
(B y 4 g T Jn d. Hecllfa' “hg [q_ W)
- W 90 I (Rea Angy “cay,
5 s Fﬂ sing ding €OMPray, - “Clajy
[-1} I\ "‘l‘ 03R I'E‘ﬂ t;'lnl )
\,mq ar rat"'le and Review m“lhn“ 5
(U‘d Res sad: f;*lﬂ@mber and Review

B, Flf“g pecite, and Recall
@g“ F"ﬁ’“'d recite, and Retain

(D) Red
ﬂs‘ﬂé“aﬁﬁﬁ%‘ra"ﬂﬂ?ﬁ s

2. Ard””“’n Eﬁafn??m Qere TTgel 1 (NS ““Gn
A ﬁmmﬁﬂﬁ@%%%

rd JTU
(5’ ¢ include <Arduino.h>
(©
(D) ts that are TRUE about ‘Ardy;
1atemen No.h'
;Te i!wrdude software uploads the hex file cader fiig are:
{rﬂ ) Gives aceess to all of Arduino's core f““C“Dnahty

(C) #include <Arduino.h>
(B Alof \hese

o R

_—-—'—'_'_

(A) Education
(Ci\ Financial Status

4, SRR G G DIaTS 197 FPprac Uel B Jddl § R sgramr e -

(A) TRIEE (B) WITedw ey
TEHEA TSI §XT (D) FcXBRM e
Keyboard pins while interfacing can cause interrupt called as:
(A) Timer Interupt (B) Software Interrupt

(©Y External Hardware Interrupt (D) Interfacing Interrupt

e
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g g G e @ HICYE &: O

5- - .
The output of given C code Is: N ES
#include ‘.Hu" . ) .13‘1 _\.?5\ .j
int main () LI AN Sy
{ o 3‘;4;@\?&10‘6
intx=1,y=1,2, p“blfg';& '.I‘l‘
2= XEr+ Y O
printf (“%d, %d", x, y); 2 y--sz
—t o — 11 Y=2 (D} x=E

) =
(& x=1, y=1 Brx=2, y=1 © *

6. awgw R B 0¥ 0S| sy TCP/IP Tifse i & _ )
(A) aﬁmmnﬁamwmﬁwmﬂﬂmﬁtﬂwwﬁ%
® ST 3 ST A, g A Rechrd 7 M & €
(C) (A) 3 (B)

(D) ﬂ@ﬁtﬁf&nftﬁnhﬁﬁ?qﬁﬁ?ﬁ%

The major characleristics on which OSl and TCP/IP model differs: .
%] OSI model S Independent generic protocol & TCP/IP is communication P

(B) In OSl model, Transport layer Quarantees the delivery
(C) (A) and (B)
q{a_)_ TCpy/P model consists of 7 layers "

-

SHETT T T P B 0 el 21 g |
TS %) srgarg € s () FHAIDRT
Reading is an at o bring in knowledge |t pasically :

(A) Encodes (B) Translates Tgy Decodes (D) None of the:
ez yromedt & -0 Rivew & Samgwor .

() 2for TR, IR

(€) ftre e, WEI yarg mefls

(D) gt

The examples of Open-loop system in control system are:
(A) Traffic Light, Toaster

(B) Traffic Light, Temperature Controller

(C) Traffic Light, Automatic washing machine

@] Allof these
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9. 2 #ﬁwm (B) =it wdes
oo (D) v Ry
R - cki
;AJ G Sﬂdaelemg (B)  Moisture sensing
( objec! & = Clion (D)  Analog signals
iy aﬂqmgm?fﬁmaffqm%?
) T . (B) s (C) e @ e
Which is not the Synonym of memo? '
(A) Gfrg!}!ar (B) Memorandum (C) Message (D) Minute
1, P @ H T BT a3t gomef a2
(A) Tae @ fefge &y

®) R &9 & SR areq @9 fRuf 3 fRrg STATRTH BT 1y Y
(€) Wﬁﬁfﬁmﬁﬁwmﬁamé
(0) & ! fAEed §9 R areg @ief
Whatis the basic function of the spring in a control valve?
(A) Characterize flow e
@ Oppose the diaphragm to position the valy i -
e according to si
(C) Closethe valve if air failure ocours : el pressure
(D) Openthe valve if air failure occurs

12. ARG 7ed@ R St Feiy & |07 —
(A) m{ﬁﬁmﬁ)mmﬁmmaﬁmaﬁag:
(B) gy
O Reedvr
(D) Fwmf

(A) Cellular (o3
-9G) netw
(B) Bluetooth ) °rk protacols

N industries are:

f{ Near-fig| COmmunication
Al of these

422
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13, loT wem el % Pofafes mie 3.

(A) en eI (B AR IR Feas

{C] IS Wﬁ"‘ [D} ﬁ'ﬂ‘ﬁ

loT Emwes include following:

(A) Security Protocols (B) Wireless Sensor Nepyork®
(C) Cloud Compulting (D‘{ All of these

@ UART &1 3 &:

(a)  gFade e Y defterfem

(8) gFEH CRMfewma Y ehadey

(€ gFadd Wi Rty / einfies

(D) giiade TRimEE ) ety

UART stands for:

(A) Universal Asymmetrical Radio Telecasling
(B Universal Asymmetrical Radio Transmitter
(C) Universal Asynchronous Receiver/Transmitter
or Universal Asynchronous Radig Transmitter

15. Ehft Hieg @t A B Arduino BRT F &1 3utin sy Fafie frar o &

(A) i & ™ (B) thtﬂ'qq (C) tﬁmm (D) FguuH
The speed of DC motor is controlled by Arduino using .
(A) PCM (B) PPM €) PWM (D) QAM
s CH, e @ ol & :
(A) TP s (B) TP &R
© U@ P D) T [T RRis
In embedded C, Literals means:
¢ a word () aletter
(C) a digit % a string constant
i . &
17. PR A A @ aife] Reare AR e 82
(A) * (B) && (C) | (D) <<
Which of the following operators isna bitwise operator? _
(A) * B && C) | (D) <<
__..-———'-'__-_-_—_._ —

e e M4-R5 /S2/ n8-22
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e ___aa

AR L s oy 1 @ o T

ﬁatﬂ REE]
5. AT O Moy s s 21

(A) ﬁﬁ?ﬁﬁo (Muag) o 1 M#WWW%
(B) el

9 qed a¥ MYy ar A
©
g
D) bout : tA :
Gnatis Ve Sending and receiving the Serial TT| gjg .

least ©"€ Serial port is there

Al :
fgi commM¢ates on digital input, 0(RX) and 1(Ty)
) UARTO'USART
hese
of Al of |
19. MQ13s TR E:
@ R B) i
© e T AR @ B#ERE A
MQ135 Sensor Is: )
(A) Al detector B) &
(C) Monitors Air Pollution : (Ba}saisqscf;r
20. T S G WA F T o —
S ) b |
s isial B) e, S
he :!r:g;uage of me houl SiEe, S
mos should be
(A) Indirect, personal and to understand

21.

22,

Direct, concise

(C) Lucid, easy (D) Concise, difficult

A HTE 6 Y A 0 o aifvend Rk fsran 3 -

) SuRAwREm (@) ww e @ R
AL L () amh

(A)e e:senhm -fea',t'ureffeatures of an email as communication medium is/are:
o Automah_c filing (B) _Facility to send copies of m '

Utomatic retrieval dB] All of thege cssage

E;’?T;TWWWWIDT%W 3 ST A A d 9

o’ B) SRRy

An loT deyi . : )+ A7 Tl

(A) wireq C€ connects with other interfaces using connections which

(€) wirelggg &) vired and Wirelass "

(D) None of these

—
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23.

24.

25.

27.

Pl ST el €7 I
(A) == aﬁd?:ﬁm (B) a:;ia (© Relational (p) £

) . highest precedencq? i
Which of the following operators have the {(g;] Relational  (p) At

(A ==andi=_ (8f Logical

loT araw= Teted Fi @ wefi e

(A) T A R3fed wuio (8) W_i';ﬁ“ﬁm
(©) ua egw fowen (D) i}

The loT temperature monitoring is related 10: fime
(A) Analog to Digital"conversion, (B) Save
(C) Real Time system , By All of these

loT snffear # ufdrs aelgs Fupfen o e

() Sif-RTEtE SfF & sravgea =

(B) Fwte WrIRiT uray

(C) Taa IR-feamw R

(D) (B) 3R (C) &

The role of public cloud computing in the IoT architecture is:
(A) Need for on-premises hosting -

(B) Remote processing power,

(" Enhanced inter-device communication

(D) Both (B)and (C)

F eI
qaﬂg}f@%m:l T feardht € ok RS wme= 2Rt 2, Lep B
(@) 0% 1 HHIU 3R I (B) 1% 0THHW AR IF
© 091 FHI IR A (D) 130 HFHHY ARHH
LCD displays the lext form of data when EN line shows and RS line
is ,
(A) 0to 1 transitions & High (B) 1100 transitions & High
{CY 010 1 transitions & Low (D) 1to 0 transitions & Low
-
W ar ¢ W & He) fawey I
Choose the correct option of C program having array:
int main ()
{ 0

%
int xyz (4) = [10}0.30.4[}]:
printf (*%d", xyz (1));

}
(A) 0 %Eﬁ/ Compile error
(C) 10 0) 20
Page 7/22 . MaRrs =
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30.

31,

Page /22—

N aeat® R (B)  Hmier fys
/ afa REIE (O)  Smafires fyrgye

The routin® "POMts prapareq in time-Mervalg jjyq daily, weekly, monthly.....-
called:

(A) anﬂﬂmepﬂrts (B) Cunierence Reporis

(C) Progress Repory (D) Periodic Reports

fm/ - (B)
(© faw )

Sell-esteem promotes
(A) Self-worth
(C) Failure

g Wy

(B) Disappointment
(D) ill-health

mmmlnTwmﬂ%~waﬂTqﬂf2u%?

(A) ol SerEREa (B) frve. freg

(€) CEwaERE 2R (D) Ja1-qq

Which rypg of loT communication model is bi-directional and fully duplex?
(A) Publish-Subscribe Request - Response

(C) Exclusive Pair (D) Push-Pull

DS e g

(A) ﬂﬁﬂ%ﬁ%ﬁﬁ?ﬁﬁ%ﬁﬂmﬁﬁﬁ%
(B) 3R UF 315 Y worehl & [y

(@ IS o e A s v

() M F Ryw o= aifw

i bar s e T3 DI AgemTar G

(A) Nulinaulsig

(B) Same as RF|

Cr’ From an
(D) L

ht required I’nl'_r_ﬂading ‘
D system

_ ¥ angle reader can read

'ne of sight required for reading

————
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32. "Hauofriend"ﬁmﬂﬁﬁﬂﬁuﬁﬁmmﬁﬂﬁﬁaﬁqmﬁﬁm%?

(A) Serial. Print (F ("Hello Friend")).
(B) Serial. Print (A ("Hello Friend"));
(C) Serial. Print (C (“Hello Friend"));
D) Serial. Print (N (“Hello Friend")): , _
'E“Jt)'nich macro conl{ﬁrm(s "Hello friend” will be stored in the Flash memory:
(A) Serial. Print (F ("Hello Friend"));
(B) Serial. Print (A (*Hello Friend"));
(C) Serial. Print (C (“Hello Friend"));
(D) Serial. Print (N ("Hello Friend"));

33. Arduino IDE # 3Pqe geetey aard 2

(A) ﬁ'e."rﬁ?t.’m (B) ATmega328p

(C) (A) 3R (B) BT (D) M & I I 1024 arzz a1 ©
What is the Opliboot bootioader in the Arduino IDE?

(AY Default bootioader (B) ATmega328p

(C) Both (A)and (B) (D) Takes 1024 bytes for initiating

34. TS Haw A, rzﬁﬂwﬁﬁmﬁaﬁw—mméz

(A) T3 Refour (8) Wiarar &y

(€) R fHe (D) e ars Ty

In a function, an array is passed by:

(A) Address relocation (B) Call by value
&)~ Function arguments (D) Call by reference

,@ I-Else 3R Rag &g Reie § sir 2 -

(A)  If-Else 1§ search 1 ay & &
(8) f&=-%d linear search ® &My &=l ¢
Q) I-Else %ma—{ﬁnfﬁfasmaﬁéﬁmmmﬁmmm%
(0) R Sq & 3fer ¢ Piofdl & fore ¢ Revtew a1 3uaim ERUEIE: T Y
The difference in [f-Else and swilch case stalement is:
(A) If-Else enforces binary search
(B) Switch-case enforces linear search
(C) Multiple statements can be used for Numerous decisions inside | E
{9}/ Multiple statements can be used for NUmerous decisions inside s;,i:iﬁ case

__-_-‘-__‘-_-___‘_'———_
M4-RS /527 0822
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36.

37.

e R E e ) s wprint () ® W fafree ) vg g guia T e -

(A) e id @’ % d ' Q) %l [D] o
The florma! SPECifier for printf () and WPTINIE () oflong integer in ¢ is denoted as:
(A) % !d (B) o d % li {D) % f

w S

(B)

(© W FIT +qmar gy e e

o A

Humidity Sensor is related to:

(A) DHT11

(B) Hygrometer
(C) Parts Per Million or Relative Humidity

{g}’ All ol these

Prafafe Hraeil @1 Sudm & Arduino 1 s far o soar e -

38.
(A) U@uq C4++
S 49 3 (B) B (0) I A B T
Arduino can be programmed using following languages:
(A) Python (B) C++
(C) Both (A) and (B) (D) None of the above
39. WRWE 0T T FIPRGIR Weae! AIHd WS & o € Juavll F i Heeaue somar- el
28 1S 1 (54 ;e e ) | e
(A) XML (B) .Net f = (0) THAE
The fulure loT trust infrastructures are based on technology for
business-critical interaction between devices without direct human interaction.
(A) XML (B) .Net (C) Blockchain (D) None of these
40. T pgm_read_word ((&(var_data[x][y]))) T A8 Ugd
(A) Tgw (B) e € K= (D) o1 vrRd
The function pgm_read_word ((&(var_data[x][y]))) reads from flash memory:
(& Address (B) Integers (C) Strings (D) Data files
— S w9 I

Page 10/22
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/ 41& | #ad 'PROGMEM PROGMEM It 71 O R ez 1

L_\;/) ﬂ %7 (B) avr‘,'pgﬂ'ﬁpace.h

amprggmem.h

ieh heﬂ
ifier of PROGMEM Utility- WV

\-

42.

43.

45,

—
Page 11/22

(A) avr/pspace.h

(C) avr/pmspace.h (D
The keyword ‘PROGMEM is a variable mod
file contains it?

(C) avr/ipmspace.h

U@ fRR T &1 §8 TSR uiftd i o T o
(A) @ad variable declaration area ¥
(B) main () @ Arg
(C) const number int
(D) #define number 35
A constant variable can be declared as:

AT only invariable declaration area
(B) After main ()
(C) const number int

ﬂm’ #define number 35

U TR STFAIEL, xyz []_ AqEDRR
(A) © e -1 Q) 1
An array index, xyz [ ] starts with .

(A) 0 (B) -1 e 1

77

e.h
g) avr/pgmspac
(A) avr/pspace.h (Q/ qvr/progmem.h

0y 2

(D) 2

A wWHAH  (B) Heud O wwdd (D) v

Which application layer protocol is responsible for machine to m

communication in restricted environment?

M
@}//‘ 1QTT, 48)./CoAP (C) XMPP
— —_—

TS Sy i @i 1 S deIe] THl € 7

(A) W arE (B) 8086 €) usmwn

i uﬁaﬁaaﬁmﬁmﬂqﬁwﬁqwzmw%maﬁqwmﬁmmm

achine (M2M)

(D) AmQP

(D) 8051

Which one is not a microcontroller in Embedded Ecosystem ?

¢y PIC (B) 8086 Ef ARM

(D) 8051

Scanned with CamScanner
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mmaﬁmmmm@ﬂwa@

i uSEd for loT is/are:
nication technologies :
2 (B) Zigbee (C)  WiMAX M All of these

@ TS eripfi o1 e 3.

46. 10T ®

(A)

The cO
(A) Bluelooth

WWWW%ATdUInU-ﬁW
i digitawrite l|EdJJin. LO‘J‘:’}:'
digitalwrite Uf:jd _;ZHHE 4
o T dz Ty
gl

LDI}.ES ift’-zrlacing with Arduino as shown implies:
digitalWrite (led_pin, LOW);

digitalWrite (led_pin, HIGH);

(A) LED off and on |

(B) LED off and on by varying VCC

(C) Can introduce delay for better o/p

All of these
48, loT SIS Sawuiic TIEURANT (IDE) 3R Te8 W 7
(A) TIATATE  (B) Uhd (O Srge (D) Wuad
Which is \oT integrated development environment (IDE) and tools?
(A) HTML (B) Pascal (&Y Arduino (D) PHP

4. S AW S 3N A Yarall &) Juae S 3 RN 7T TR& TR B HA X HA© ?
(A) el TREN @) mma (O feewie D) THIAPEE

The main security challenge to overcome to make loT services available at low cost

is:
m.)/ Opensecurity (B) Scalability (C) Detachment (D) None of these

50. loT ¥R T@I@ - | )
(A) TISE Hyfen (B) i3
) SaTRfea o) Al

(A)  Cloud computing (B) Block-chain Technology

(C) Data Analytics xRy Al of these
]
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51. loT anfdeae  fog e WicTersy ersam 22
(A) s CRRYE (B) ArduinoUno (C) miﬁ (D) aﬂ"'“

: is/are:
The prototype hardwarejused for loT W -
( aspberry i {BY” Arduino Uno~ (C) Cubie Board uh/ Al of th

52. TR A Prafifle vew safia 81 ¥: el
(A) = (8) #HAR © ™ : ) aﬂﬂﬂﬁ
Micgoprocessors have following components embedded in them; f these
MHAM (B) Memory (c) ROM (D) None©

53. U& agq W, faug %aﬁﬁﬁaﬁaﬁm%#ﬁ_————%aﬁﬂﬂﬁm%

(A) Rdg, aa ®) a, e |

(C) ar=y, fawg (D) fadw, fawg

ITJ al sentence, subjecl communicates about and predicate talks
daoou 3

(A) predicate, sentence

B ntence, verb
(C) sentence, subject D) 9

dBy” predicate, subject

5. ) G- R TS0 R 7 3w Py w oot &
- (A) WS (B) fRRa (C) Sifeem o) i
The differences in an open-loop and a closed-loop systems are based on:

Ay Feedback (B}Q Stability ts):) Complexity @( All of these
55. LDREWFAHATAE &

) TfFsER () Oy © dswewRs (0) Joi
LDR Sensors are made of: '
(A) Semiconductor (B) PbS (C) Lead Sulfide @By~ All of these

56. WoT &1 8 3R oT ¥ 39& Iuaimar g 2
(A) IR 3 v SR 9y @ wfeaar A afg
(B) aTERew 3 e ofi [Ram FHevdt
(O 99 31 v 3R exaimfaferd d gur
(D) = 3w fivg 3R ol A afS
What is WoT and its usage in the loT?
(A) Wireless of Things & increase time complexity

g)(ireless of Things & reduce security
Web of Things & improves interoperability

(D) Web of Things & increment in cost

Page 13/22 .
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ngﬂ#ﬁz' Hiferas Juesyr, 4, HEF PR Gh?;_____q“mﬁ%

o (A) @q:ise ~(B) Wﬂdevi @ $Ere (D) LE .
T OTP">CS ©f internet, physical 9€¥ICes, sensors, microcgnyroller. a"° s
) momalon gy galo™ (C) intanet © (D) Electro”
o, 0T TP Py 35 forg e T TR ) e
(A) e ®)  sifea i
0 T PR ©) Amp ~
An loT déVice may need interfaces for:
A) sensors (B) audionvideo
9/ Internet connectivity (D) Al of these

59. forloop ¥ Tl aRaae x 3Ry 1 TP WY &/ (Run) T2
How 1o TUN two variables x and Y in for loop simultaneously?
yA) for(x = 0; x<m, x++), for (y = 0; y<m, y4+=3) {}
(B) for(x =0,y =0;x<m, y<m; X++, y+=3)
(C) Both (A) and (B)
for (x = 0; x<m, x++) { }, for (y = 0, yem, y+=3) { }

60. e Gl & PR SETad 3 Hg i w0 § gev far on Gl ¢

(A) T ) fAgE - () W - (D) T
A is a document that can be used as evidence in court.
JAT Notice Minutes (C) Letter (D) Email
61. TS Higtex @ Wi &: '
(A) TR ) Tfaefien @ Wy
(€ TEEET YT S (D) Ti
The role of a moderator is:
(A) Focus on group (B) Managing the dynamics
(C) Smooth running of discussion (MII of these
62, TS o 7w R T 9 o A 2 ) L wm
EIGIN!

A @ e (© A RE 0 e o
The messages meant for the general public and that sent to a specific group are
called . respectively.

(A) Circular, Memo (B) Notice, Gircular (C) Note, Circular (D) Minute, Circular

— 8 ] e
Page 14/2 F - ssaunl M4-RS5 /S2/ 08-22
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63.

64.

65.

66.

67.

@
o Tl Ry P 0 TR e 5 AfE® T A gy o " /
¥ 1 o) S A 6
KK © 0 FEE @

(A) T (B) ; £ no

Paralanguage is a part Of meta-communicalion that gz in

communication. Also knownas ________— . ic
! Haptics D) smca“

(A) Poetry (B) Prosody

(A)  FeRuH & domiae (€) auidi® () SEe®

Communication with oneself is called -
(A) Interpersonal  (B) Intrapersonal (C) Impersonal (D) Forma!

Wﬂ.wmmmﬁﬁﬁﬁmmm%?

() faggad smafd 8) o
(C) AR gexhfim (D) ufEIeH
yicrucontm”ers, exlernal access is used for:

Power supply (B) Latches
(C) Memory Interfacing @;/ Peripherals
s loT wieidid H onfiye =g 2

(A) FTTd / 3THT MawTa aur

(B) Fid A= WITIdia

(C) U TR WietsTa

(D) TIF AW WIEIHicd ,
An 10T protocols does not include: "!'a;f:)
(A) Network / Internet protocol layer / v
{B] Link layer protocol

(C) Application layer protocol ./

(D) Session layer protocol

loT 3w § ESP8266 @1 &1 IUUN &7

(A) &9 AT arer are-wTs Alsge (B) RO W e

€ FREEHAqaedr (D) = a0 amen ok o Aiegw
What is ESP8266 used in loT applications?

(% Low-cost Wi-Fi module (B) Microprocessor on a chip
(C) In-build HTTP software (D). High-cost Wi-Fi module

_____‘________________———-—'_"———-—_.__—____.—————_______

i MRS /570822
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joT mﬂﬁfﬁqﬁﬁﬂmmﬁu

loT+ —
68- & (©) e fam
(B) AT oo (D)
EP«1JF * omotes the Creation of 10T termiNal ingysyyy ' |
:;, pevices (B) Notwork (©f Clusters (D) Thing®
v BV $ete et g1 A 4 S i i e o €7
60 A (263 3R 16.fae ®)  32.fye i 128-fae
) 328 3R 64 fae KID] 16-fde 3i¥ 128-fe
Which address schemes are used BY 'PY4 and Ipv6 internet protocols?
) 128Dt and 16-bi () 32 bit and 128-bit
(©) 32-bitand 64-bit (D) 16-bit and 128-bit
?
0, o0 e O feirar ) o1 ) IR L 5 s fafasen w2 ¥ g GUH
(A) TAT-VEE (8)  3fra-SITEw
(C)  Paudl (D)  3fre-0m

Mr. Rahul is seeking feedback after Completing and implementing his project- This
acl represents : _

Time-Management Sell-Awareness

(BRy
Q) Gralilude‘/‘ ('ETL Seli-Love

7. mmcaﬂgﬁ.qqa?ﬁmﬁmfaﬁm%;

in ihe given C code, for loop executes for:

#include

void main ()

{

int x=10;

for ( ;1) {printf(“%d\n",x):}

)

(A) 10times (B) 9times (CY infinite (D) Zero
72. FrfoRadd % 10T g &g &1 ves 76l 22

(A) TR (B) Ned

(C) ¥R ufEre (D)

Which of the following is not the component of loT End point?

(A) " Router (B) Gateway

(©) Communication Module oy’ MCU

.
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73. ﬁmﬁﬂaﬁﬂ[{”wlﬁﬁﬁ'ﬂ@ﬁ?ﬁa‘mﬁ%? ﬁ“mﬁ’ﬂ
(A) fEforcet | (B) ERIGoG © - CAREI (D) {Na
Sensors Fgﬂ?Eﬂ Signals from Hnak}g 1o which dumain? I ':A] and {B)
@)/ Digital (B) Electrical (C) Mechanical (D) Both

74. 'PROGMEM gfefer] %ﬁiﬁ%ﬁmm Wmﬂﬁﬁmﬁmﬁﬂf{uﬁﬁ%

a) FIRTTH - (B) wy © TEIRUT () &
The memory USEd While saving e .\ < \pROGMEM utilly s
(A) DRAM (B) Flash (C) SRAM (py eePROM
75. @@ R 10T B uRf g 2,
w = ‘ (8) omufafea fRufei
@ e (D) HfA-eraiioiad Hemta
Which featlure defines |1oT?
(A) Local neiwt:-r'k (B) Non-changing conditions
(C) gelf-configuring {3¥" Non-interoperable protocol
@ Y 3 9l OfRHE O T8 % R ) e w0 -
k Choose the correct option to access the 4" element of the array :
int z [30];
int *pz;
pz =12,
(A) *(z43) @ z[3) (C) pz[3] (D) *(*pz+3)
7. W3 AR IW:
(A e feige iR 8) 2fmfFmganic
C) TERF g P s e (0 WA
LDR Sensors:
(A) Light Depeﬂdem Resistor (B) 2 pinned l(}
(€)' Controls Light |ntensity WAH_QI these
————

-
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W’\‘%
@SS fiey
qﬂﬁ

Mi crocommll'afs are:

) Embedded System
(-G) Haward

79, gnﬁ:(_ﬁ E URY &Y Thd 87
(A) MBI Ee
(C) FRRTIE R
How.can we initialize the array?
Initializing _
(C) Factoring and array

80. qa @ A=Al §;
(A) @ wHIad S
(C) Td JrH <&l Ui dIAl
The leadership trait/traits is/are:
(AY Toinfluence people
(C) To achieve a common goal

81. ArduinoTH e

(A) oI e ufgeR
Q& Frenfei yman

Arduing is a )
b Open-source Text editor
(©) Wep programming language

82. 10T 1y yomferai 3 TR UCH -
A Fx (B) Ueguesf
:fm CoMmponents of loT based Systems are:
) SE“EOIS (B) ACILIE[UTB
Page 1873~

(B) v
(D) 3 mp

(B) Application-specific
(R All of these

(B)  3rgmgfm o
(D) ¥ 7 Uigde 7%

(B) Assigning array
(D) Populating an array

(B) UG &1 AFTERA S
(D) Twh

{E-)" To guide followers
(D) Allof these

(8) IR SR Wewid
T AHE T

(B) Open-source electronics platform
(D) None of these

MEPPIR (D) Frrvem

(C) Microcontrollers (gy~ ay ey

___"'-'—-____________,___——————'__—
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84.

85.

&

87.

Arduino o Yaifim TR 3 ey 00 Gl Wl
(A)  exe (B) .ino @ e
Skelches in Arduino are saved with the extension —
(A)  .exe (B) .ino (cy .de

() doc

(DY .doc

loT 3nffeemr & ward) =Ruy @ 2

(A)  FeFe Ted, US Snnle

(B) ¥R 3R vaEUR

(C) =Ter dex 3R wIs faeo

(D) T uh

What are the effective stages of loT architectyre?

(A) Internet gateway, Edge information
(B) Sensors and Acluators

(C) Data center and cloud analysis
{E{) All of these

afarRon SR A AT ) Rt e 3 forg R R T aRErE S I HE €

(A) STt (B) Suwdiazes (C) SR UG THA3200(D) TATHSS

The wireless battery free sensor designed to record environmental and materi:
temperature is:

WPJ DI:I’H (%/ésﬁszes (C): RFM3200 b LM35

Arduino IDE ¥ §eaieX ®18 ?

(A) IS I U ghal (B) T Y Bl &
(C) AR ¥ HEIed D) @it

What is the bootloader in the Arduino IDE?

(A) a piece of code (B) initiates the sketch

(C) stored in the memory space \{/D)/ All of these

TS C F arta qu ) ) TG PV

(A) End (B) Exit (C) Break (D) Abort
' i ' dded

How to terminate an iwrﬂ%fﬁ

(A) End (B) Exit 2T Break (D) Abort

\/@ J—
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fne way we dress is an examplé of
C : 3
Ve erbal ———— COMmunijcati® =3
(A) rbal MNnnv ©) Writier o gpok

/5] @SS C A T affiyes & ferg e VR
l P S ——
B PSI? wawiaren : G2
) FER? ueirar <CHINA2
(0) T Fwres & sy
choose the correct option for the t€Mary operatar in embedded €
(A) Based on ternary condition
(B) condition? Expressiont: EXpression2
(C) condition? Expression! < EXPression2
(D) Similar to execution of a LOOP

90. Eﬁﬁm@ﬁﬁﬁﬂﬁfnT mﬁmmg,mﬁﬁwm%m
e ‘
(A) uRr e ST @ G X
(B) malicious IS $IITE X
© Ul @ dre & o RIeReaR @t
(D) EIEEER & 9 TSV , ' -
loT devices afe vulnerable to attacks and threats.” One of them is Cryptanalysis

attack that means:
‘{g’ By recovering the encryption information {}'1

Inject malicious codes
(C) Find ciphertext to break the encryption
(D) Tamper with the hardware

91. BO51%:

(A) 4 TrEwidgia] (B) gﬁzmﬁaﬁm

(O 12fae ATgHIDCIOR (D) 16 T AEPIFLH

8051 Is :

(A) 4.t Microcontroller (B) 8-bit Microcontroller

©r 12-bit Microcontroller (D) 16 bit M[crgcm'lll'ﬂller
W—.—.—.— r el M4-R5 /S2/ 08-22
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92. 10T & fom mrgerTdrgiend &1 = P R anunfya 2
(A =feama fadramn (B) fRE
(©)  are+y sraege o) deh
The selection of Microcontrollers for loT is l::-f:-lsl’-":l on-

Individual Characteristics (B) Stability
(C) Desirable output ['D}"’A“ of these
I

R R R SRR TR R o ——— L .
(A) VSR (B) Jead (©) fern s (D) gwdie

Following layer is not mentioned in TCP/IP Mode!-

(@) Presentation  (B) Nelwor"}\g# (C) Application (D) Transpoﬂ
o

94. Arduino @IS FER H AR ?
(A) eI () TP REUBRHT (g @uaﬁmmﬁmﬁaﬁ,—mm%
Q) W%Fﬂﬂ‘-ﬁaﬁ"{m% ©) ah
What is true about Arduino Codes?

(A) Setup ()isastartup function  (B) Loop () is executed repeatedly
(C) Also known as sketches (&) Allof these

95. TR wfan # A mite ¥
(A) WuE (BB = e = iR (Eare) — R = Bigds
(B) T (@IS =3 = el () = wfafvar = Bisdw
() N (CIHIET) = I = Reftaw (ffer) = PR = Wisd®
(D) U@ (WafHan = 30 = Rl (BT = Tt = Bisas

The communication process comprises of:
(A)  Sender (Decoder) = channel = Receiver (Encoder) = Response =Feedt

@f" Sender(Encoder) = channel = Receiver(Decoder) = Response = Feedba
(C) Sender (Encoder) = channel = Receiver (Response) = Decoder = Fggg_t

(D) Sender (Response) = channel = Receiver (Decoder) = Encoder = Feedb
_-__‘:ﬂ— =

@ Wwwmmwﬁﬁﬁmﬁﬁmmmm%:

() S T (B

Q e (D) A& .

The stress management technique based on mental exercises which 10 produce
relaxation response

(_f\) Autogenic Technique (B) atir;gl )
@/Sleemng (D) Medicine intake
N ———— N " M4-R5/52/ 08-22
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. Al Pt o 3

A N8 Tefiygy a5 T POT

B T ey fyranalt 3 T TG g

O S Urefiye faral & AT gl

) q i

goehastic control system has:

A Feedback with unknown rando™ actiong

) Posilive Feedback with UnKNO! random actions
KE.]/ Negative Feedback with UNKO¥n rangom actions

9

All of these

5. meﬁwwﬁﬂﬁﬁﬁ?

(A) 1 (B) 2 , (C) 4 .(g’) 6
How many pwm pins does the Arduine Uno have?
(A) 1 (B) 2 (C) 4 (D) 6

99, ﬁqmmﬁﬁﬁﬁﬂmﬁw%ﬁﬂmm&mmma?

) e ®) e afits Hifen

(C) TS (D) wml

Which document that can be used as an evident in legal cases ?
(\) Notice (Br Minutes of a meeting
(C) Agenda (D) Memo

100, BUTIFTS & AV & o TE e T
Choose the correct option for indexing of the given code:
int main ()
(

int xyz (8);
return 0; '

)
L8 07 B) 08 C) - 17 ©) 1.7

-p00-

— e
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